§9-1 & §9-2 ROOTS & RATIONAL EXPONENTS
AS ALWAYS, SHOW ENOUGH OF THE PROBLEM SO THE ANSWER MAKES SENSE!! ANSWER ON A SEPARATE SHEET.
1.  What does it mean when it is said that “5 cubed is 125”?

2. What does it mean when it is said that “5 is the cube root of 125”?

3. Simplify without a calculator: a) 
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d) 
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4. Rewrite each using a radical sign: a) 
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b) 
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c) 
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5. Rewrite each without using a radical sign: a)
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b) 
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c) 
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6. WITHOUT a calculator, order the following from least to greatest: 
a) 
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b) 
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7. Graph 
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, 
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[image: image21.wmf]1

2

()

hxx

=

 on the same window of a grapher. 

_____ For what value(s) of x is 
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_____ For what value(s) of x is 
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b. 
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_____ For what value(s) of x is 
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c. 
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_____ For what values of x is 
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d. none

8. If has been found that the speed, 
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,in knots of a ship is a function of the horsepower, 
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, developed by its engineers, with 
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.  How fast will a ship travel with engines producing 650 horsepower?

9. The volume of a cone with radius 
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 and height equal to the radius is given by 
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.  a) Give a formula for the radius in terms of 
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. (rewrite as 
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). 
b) A cone with equal radius and height has a volume of 60 mm3.  Use the formula in  part a to find its height.

10. Are the functions 
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 inverse functions? Justify your answer.

11.  Solve:
 a) 
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b) 
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c) 
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12. Simplify: a) 
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b) 
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c) 
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  (summer packet!)

13. Evaluation without a calculator: a) 
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b) 
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Assume all variables indicate positive values for the #14-16.

14.  Rewrite without a radial sign: a) 
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b) 
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15.  Rewrite with a radial sign: a) 
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b) 
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c) 
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16. Rewrite using exponents in fractional form: a) 
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b) 
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17.  Graph 
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 in the same window.  a) How are the graphs related? b) Find 
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18. The volume of a cube is found using the formula 
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, where 
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 is the side length of the cube and the surface area of a cube uses the formula 
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.  a) Give a formula for the side length in terms of 
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. b) Give a formula for the side length in terms of surface area (
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).  c) Find the volume of a cube whose surface area is 500 in2. d) Find the surface area of a cube whose volume is 50 m3. 

19. Earth’s atmospheric pressure decreases as you ascend from the surface.  It can be shown that at an altitude of 
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 kilometers (
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), the pressure 
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 in grams per square centimeter (g/cm2) is given by the formula: 
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(the exponent is negative).  Give the approximate pressure at each altitude: a) sea level, b) 30 km above Earth and c) 50 km above Earth.
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1. 5 to the third power is 125; 2. 5*5*5=125; 3. a) 4 b) 1/16 c) -7 d) 2 e) 8 f) 512 g) 6 h) 8 i) 1/8 j) 25; 4. a)� EMBED Equation.DSMT4  ���b) � EMBED Equation.DSMT4  ���c) � EMBED Equation.DSMT4  ���; 5. a) � EMBED Equation.DSMT4  ���b) � EMBED Equation.DSMT4  ���c) � EMBED Equation.DSMT4  ���6. a) � EMBED Equation.DSMT4  ��� b) � EMBED Equation.DSMT4  ���; 7. a c b d ; 8. 16.400 knots; 9. a) � EMBED Equation.DSMT4  ��� b) � EMBED Equation.DSMT4  ���; 10 NO (tell why); 11. a) � EMBED Equation.DSMT4  ��� b) � EMBED Equation.DSMT4  ���c) � EMBED Equation.DSMT4  ���; 12. a) � EMBED Equation.DSMT4  ���b) � EMBED Equation.DSMT4  ���c) � EMBED Equation.DSMT4  ���; 13 a) � EMBED Equation.DSMT4  ���b) � EMBED Equation.DSMT4  ���; 14 a) � EMBED Equation.DSMT4  ���; b) � EMBED Equation.DSMT4  ���; 15 a) � EMBED Equation.DSMT4  ���b) � EMBED Equation.DSMT4  ���c) � EMBED Equation.DSMT4  ���; 16 a) � EMBED Equation.DSMT4  ���b) � EMBED Equation.DSMT4  ���c) � EMBED Equation.DSMT4  ���; 17 a) inverses b) =x; 18. a) � EMBED Equation.DSMT4  ���b) � EMBED Equation.DSMT4  ���c) � EMBED Equation.DSMT4  ���d) � EMBED Equation.DSMT4  ���; 19. a) � EMBED Equation.DSMT4  ���b) � EMBED Equation.DSMT4  ���c) � EMBED Equation.DSMT4  ���
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